> restart
> SolucionGeneral := y(t) = C,-cos(2-t) + C,-sin(2-1)
SolucionGeneral .= y(t) = C, cos(2t) + C,sin(2 1) €))

> Sistema := diff (SolucionGeneral, t), diff (SolucionGeneral, 1$2) : Sistema,; Sistema,;

d .
m y(t)=-2C;sin(2¢) +2 C,cos(2 1)
d2
Fy(t)=—4 C,cos(2¢) —4 C,sin(21) )
t
_> Parametro = Simphﬁ/(solve( {Sistema}, {C1> CZ}) ) : Parametro; Parametro,,
1 & _L(d -
C, = 4 cos(2 t) [dtz (1) > (dt y(t)) sin(2 ¢)
_ (& - 1 (d
C,= 4 ( 7 y(t)] sin(2¢) + ) ( & y(t)) cos(2 t) (&)

> Ecuacionlntermedia = simplify(subs( C,= rhs(Parametro1 ) , Gy = rhs(Parametroz) ,
SolucionGeneral ) )

2
Ecuacionlntermedia .= y(t) = - 1 d—2 y(t) “)
4 dr
_> EcuacionFinal ‘= [hs (Ecuacionlntermedia) -4 — rhs(Ecuacionlntermedia) -4 =0
2
EcuacionFinal =4 y(t) + % y(t) =0 5)
t
_> SolucionGeneral,
y(t) =C,cos(2t) + C,sin(2 1) (6)

> Comprobacion, = simplify(eval(subs(y(t) = rhs(SolucionGeneral), EcuacionFinal)))
Comprobacion, :=0=0 @)

> SolucionGeneralUno := y(t) = C,-tan(2-t) + C,-cot(2-1)
SolucionGeneralUno = y(t) = C, tan(2 t) + C, cot(2 ¢) 8)

> Comprobacion, = simplify(eval(subs(y(t) = rhs(SolucionGeneralUno), EcuacionFinal) ) )
4 ( -C, cos(2 t)6 +3 C, cos(2 t)4 —3 C, cos(2 t)2 +2 C, +cos(2 t)6 C1>

Comprobacion,, := 3 3 )
cos(2¢) sin(2t)
i =0
_> SolucionParticularUno = subs( C,=-3,C,=5, SolucionGeneral)
i SolucionParticularUno :=y(t) = -3 cos(2t) +5sin(2¢) (10)
_> Comprobaciony = simplify(eval(subs(y(t) = rhs(SolucionParticularUno), EcuacionFinal)))
Comprobaciony :=0 =0 a1
_> SolucionParticularDos = y(t) =cos(2 t)
SolucionParticularDos = y(t) =cos(2 t) 12)

_> Comprobacion | = simplify(eval(subs(y(t) = rhs(SolucionParticularDos), EcuacionFinal)))
(13)




Comprobacion| :=0=0 a13)

[ > SolucionParticularTres = y(t) =sin(2¢)

i SolucionParticularTres = y(t) =sin(2 t) 14)
> Comprobacion, = simplify(eval(subs(y(t) =rhs(SolucionParticularTres), EcuacionFinal)))
Comprobacion, :=0 =0 15)
> SolucionGeneral
y(t) =C,cos(2t) +C,sin(21) (16)

_> plot([rhs(SolucionParticularTres), rhs(SolucionParticularDos),
rhs(SolucionParticularUno) ], t=0..2-Pi)
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_> plot( [subs( C,=6, C,=-6, rhs(SolucionGeneral) ), Subs( C,=5,C,=-5,

rhs (SolucionGeneral) ), Subs( C,=1, C,=-1, rhs(SolucionGeneral) ), subs( C,=2,C,=
-2, rhs(SolucionGeneral) ), Subs( C,=3, C,=-3, rhs(SolucionGeneral) ), subs( C,=4,
C,=-4, rhs(SolucionGeneral) ), subs( C,=-6, C, =6, rhs(SolucionGeneral) ), Subs( C,=
-5, C, =5, rhs(SolucionGeneral) ), Subs( C,=-1, C,=1, rhs(SolucionGeneral) ),

subs( C,=-2,C,=2, rhs(SolucionGeneral) ), subs( C,=-3,C,=3,

rhs (SolucionGeneral) ), subs( C,=-4, C,=4, rhs(SolucionGeneral) ) ], t=0.2 -Pi)






